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‘ Hussein

Answer ALL questions: show Your work.

Q1. Indi
(25 point

cate whether these statements are TRUE (T) or FALSE (F)
S):

1. (....) Both the demand curve and the budget line have negative slopes.
2. (....) When the price of commodity “A” declines and as a result consumers

substitute the relatively cheaper commodity “A” for the other
commodity “B” whose price did not change, this is known as the income
effect of the price decline.

3. {....) The slope of the budget line is known as the marginal rate of substitution,
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- (....) Own-price elasticity of demand is a measure of the responsiveness of the

) Ethics, religion, and morals do not affect economic decisions.
) The slope of the indifference curve is always negative,

quantity demanded of a certain commodity to changes in the
commodity’s own price.

---) The budget line joins consumption bundles with same utility.

.-.) The indifference curve joins consumption bundles with same cost.
--.) Consumption bundles on and above the budget line are feasible,
---) An indifference curve shows consumer preferences.

-.) Two consumers will get the same satisfaction from the same

consumption bundle.

.--) In economics, we always operate in the first quadrant because variables

could be either positive or negative.

) The change in the value of Y divided by the change in the value of X is
known as the slope of the function Y = f (X).

) The “best” choice for an individual consumer from his’her point of view
means the “optimal” choice.

) The opportunity cost is a measure of sacrifice and it exists only when
you are faced with choices.

) Diminishing marginal utility means decreasing utility every time we
consume an additional unit of a good, ceteris paribus.

) Total utility reaches a maximum at some point.

) Marginal utility could be negative,

) When marginal utility is positive total utility is increasing.

) Marginal utility is the slope of total utility.

) Utility level increases as we move north east on the indifference map.
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positive.

23. (....) The slope of the budget line is
question.

24, (.
assumed or allowed,

25, (....) All of our discussions in class

perfectly-competitive market.

) The slope of the indifference curve is negative in general but sometime

the price ratio of the two goods in

) Along an indifference curve no substitution of the two commeodities is

this semester assumed the existence of a

Q2. Circle the letter that refers to the correct answer; (15 points):

1. Budget lines:

a. have positive slope

b. are convex to the origin

¢. have negative slope.

d.bandc.

B _avini

<ern--. DCCUrs at tangency of budeet line and indifference curve.

(a) equilibrium

(b) best consumption

(c) efficient consumption

(d) all answers are correct

3. The consumer’s budget line is:

(a) a constraint on consumer purchases

(b) locus of purchases with same cost

{(c) positively sloped

(d)aand b

4. There is “Effective demand” for a product if consumers :

(a) desire the product

(b) can pay for the product

(c)aand b

(d) all answers are wrong

5. When marginal utility is negative, total utility is:

(a) increasing

(b) decreasing

(¢) minimum

(d) all answers are wrong

6. The consumer's Budget Line will

change if:

(a) price of one good changes

(b) consumer’s taste changes

(c) weather changes

{d) all answers are wrong

7. Consumer preferences are affecte

d by

| (a) culture

(b) religion

(c) education

(d) all answers are correct

8. The market demand curve is the

®

ufindiﬁc_lgal demand curves,

.............

| (a) horizontal sum (b

) vertical sum

(c) algebraic sum (d

) absolute sum

sazes is the % change in quantity divided by % change in price.
(a) demand (b) En
(c) share (d) consumer’s expenditure
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10. Demand curve is sloped downwards because of ...............

(a) DMU

[(b) DMRS

[(e)1C

| (d) BL

11. Ep is usually measured in-

| (a) weight units

(b) distance units

[ (€} money units (AED)

(d) all answers are wrong

L]

2.

.............. is a relationship between quantity and price:

1
|_|[a]| demand curve

(b) demand schedule

| (¢) demand fu nction

(d) all answers are correct

13. For goods A and B, along the indifference curve:

(a) Utilitv is constant

' (b) MRS 43 is variable

(c) the slope is constant

[(d)aandb

L1

_14.The.......

---+.. IS 3 CONStraint on consumer purchases.

(a) budget line

{b) indifference curve

|
| (¢) demand curve (d) all ANSWErS are wrong _f
15. All consumption points .............. the budget line are feasible.
[ (a) above (b) below
| (c) near | (d) not on
Q3. Answer the questions using respective diagrams; (10 points):
1. Use (Figure 1) to answer these questions:
~
8 .. 1 3
a a2 =
< 2 = -
! = ®c e
A S
e g i
s ; J
Oranges Oranges
Figure 1 A

' Figure 18
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a. Curve | (Figure 1B) is called

b Corve 2 (Figure 1B) isealled: oo i i in o

¢. In(Figure |A) consumption bundles in the shaded area are
thanbundle A, but .o i is worse than A.

d. In(Figure IB), pointCis ........................; and pointFis

2. Use (Figure 2) to answer these questions:

Demand curve for Apples

L J

L] 10

Figure 2

a. The label of the horizontal axis is

b. The label of the vertical x5 38 cuuuiiiviiivmssoesoaiciaansiibiiaesis

¢. Calculate the own-price elasticity of demand for apples assuming the
beginning of the story was that the price of apples was originally 5 pounds a
kilogram: (show your work):

.................................................
-----------------------------------------------------

........................................................................................
--------------------------------------------------
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Use Figure 3 to draw the (Market Demand Curve) (3 points):
= The market here is assumed to be composed only of Fatima and Aisha.
= You must label all axes (6 axes)
- Remember: to draw a line you need at least two points; 50 you must draw two

specific points on the Market Demand Curve (assume anv values vou like for
each consumer on the horizontal axis).

4
2
Fatima's Demand Aisha's Demand
curve curve

P =
= =

Market Demand
curve

Figure 3

Q4. Problem (7 points)

If your salary (1) is 8,000 pounds per month and vou consume only two commodities
apples and oranges (X; and X» respectively), where the unit price of apples Py is 4
pounds a kilogram and the unit price of oranges P. is 2 pounds a kilogram (show all
of your work on page 6 of 6).

= Write down the budget equation.

- Draw the budget line.

= Calculate the slope of the budget line.

= Ifthis budget line is placed on an inditference map, show the utility
maximization point.

= Mention the utility maximization condition.
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(The end of exam)

Best wishes
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| Dept. of Rura Development :First Year . = o I
| Course: Rural Suciology 181032

| Exam, Date: Jay, 3. 2017 Alexandria University e
|' Exam. Time: 2 hoyrs | College of Agricultyre B
| Exam Total Points: 149 | ;

- _____.__.__J________.____—_____
[ Exam. Committeer Pr. ‘Mohamed Nabij Gamic . Prof. Moh amed Elezaby. Prof. A_h_ﬁd_mTu_k_niu_ ]

Answer the First Question in the Exam Sheet and enclose jt in your answer booklet.

Answer All of the Following Questions: (140) points.

Q 1: (40 points). Indicate whether each of the following statements is “trye (T)” or
__“false (F), lilﬂikir_ti!w_ﬂﬂi:-_eu:iiﬂl_ﬂ_t the beginning of the statement,
| T|F ___ STATEMENT

e! | @ | Economies of scope can be found in ‘multi-product firms’ — that is in enterprises thay use 1

! dina . : it
e the same fesourees to produce two o Tore Interrelated goods or Services. _
® | © | Acentralized mode] of sovemance dramatically increases the apportunity for involvement, [

| and provides space for PEISOns to contribute at severs| different levels .
— o————— kb [OF Persons to cor G e O IOl —_
Itist

|o]e hrough rural development that new sources of income could be subsequently |
mobilized in order to augment an otherwise stagnating GVP
| oo Decentralization does not mainstream the many groups of cilizens that were previously i

I | exclud ed.

® | Cltus i« proces by hich Tadviduals seqs T T Tenguage, sl i, |
and values to conform to the norms and roles required for integration into g group or |
1 ’ community, - N
R Proper university specialization is one of the reasons for studying rural development in the |
college of agriculture.
: flg_iiii_—__ﬁ_kbm—___lm—__ T |
© | Rural life in Egypt and . developing countries will not decline as much as it did in the West,
Morrill Act or Land Grant CﬂﬂEg_f.‘_AMs S issued in 1862, o )
{ -tives are confliet, functionalism, Symbolic interactionism and

social theorizing, |
Groups are composed of statuses and roles activated by Social Structure,

o
¢ | Human SXperience simply can be explained by making reference 1o human biology.
o dgen

Agents who are People use their agency to make choices based on their varieq motivations. |
L WhO are i ————— <10ICes based on th

e

Scientists must hold the Attitude of skepticism,
© | Good survey question @?ﬂld_ﬂﬂii@l‘iﬂﬂiﬂiﬂmﬂiﬂmf;_ e
2 | Egypt follows the administrative criterion to distinguish rural urban Status, el
@ | The six dimensions of rurality are ecological, demographic, psychological, economic, '
Social and cultural, . A

© | o | Egypt hd._ﬁ—-Ljﬁl__! @n_l—m_ﬁrﬁv_e vili_agi?mnm__gm thousand hamlets,
E_L © | Increased bppertunities of conflict js one of the disadvantages of village settlement. _]

© | © | Share of a_iriﬁufiu:_e ul@ﬂi’:_i!@g 25.6% In_]S'SS—Eﬁ to 13.9% in 2005.

25.6% in L,

Second Question: (25) points:
Explain two definitions of the science of rural sociology,

Third Question: (25) points:
What are the (hree components of the unjverse environments, their nature and their
corresponding sciences.

Fourth Question: (25) points:
Define in detail. the process of rural development illustrating the future of rural Egypt.

Fifth Question: (25) points:
Explain in detail the institutional aspect of agricultural and rura development.

END
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DEPT OF PESTIC CHEM & TECHNOL CHEMISTRY 1701 (ENGLISH SECTION) EXAMINERS
FAC OF AGRIC ALEX UNIY FINAL EXAM PROF HASSAN M YOUNIS
2016/2017 TIME ALLOWED: 2 hr. PROF 5ALAH & SOLIMAN

First Fart’

Answer the following questions:

Qi: Are the following statements true or false?

1) The energy of a quantum can be expressed in terms of wave length of the radiation.

2) The law of photochemical equivalence states that the absorption of one light quantum
may activate one or more molecules to chemical reaction.

3) An orbital only exists physically if an electron is “in” it.

4) The energy levels of an atom are determined by its nuclear charge and number of electrons.
5) The energy associated with a given orbital is not the same for all atoms.

&) Pauli stated that no two electrons in an atom can have the same values for all three quantum
numbers n, |, and m.

7) High energy quanta have short wave lengths.

8) The Bohr radius is a reasonable estimate of the size of a hydrogen atom in its ground state.
9} Each separate atomic orbital has a unique set of values of the quantum numbers n, |, and m.
10) A particle confined to a box has quantized energy levels.

11) Einstein showed that light has some characteristics of particles, a single light guantum moves
in a single direction, like particle.

12) In 1513 Niels Bohr explained the spectrum of light emitted by hydrogen atoms.

13) In 1924 De Broglie proposed that matter has some characteristics of waves, there is a
characteristic wavelength associated with each particle.

14) In 1926, Erwin Schrodinger formulated quantum mechanics in terms of a differential
eguation.

Qz: a) What quantum numbers characterize the wave function of the hydrogen atom and what

are their allowed values?

b) What fundamental differences in electronic configuration do the representative elements,

transition elements, and the inner transition elements exhibit?

C) Construct a periodic table and indicate clearly the region of existence of each of the four
types of elements.

'Egefjfi



Second Part: Gases and Liquid States
Answer all the following questions:
Question 1:

Formulate each of the following laws or relation in accurate statements or
clearly defined mathematical equations:

I. Gay-Lussac law of combining volumes

2. Boyle’s law

3. The ideal gas law

4. Van der Waals equation of real gases

3. The relation between the vapor pressure of a liquid and its
temperature.

Question 2:

a- To what height water will rise in a capillary tube with 0.001mm
radius knowing that the water temperature is 4°C where its density is
I g per cm” and its surface tension is 72 dyne.cm and the angle
between the water and the inner wall of the capillary (8) is zero.

b- Calculate the pressure caused by 0.25 mole of NO. keptina 10 liter
container at 27"C.
Question 3:
a- If you are a water diver, why yvou should not rise up too quickly to

the surface from a depth of 30 m under water?

b- Calculate the value of the gas constant in calories.

Bge2q *
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Academic Year: 2016/2017 Semester: The second

Department: Genetics Level: First Ml;
Subject name & code: Principles of Genetics 20101 ALEXANDRIA'.
Exam date: (Wednesday) 14/6/2017 PladSl il
Exam duration & time: (10— 12) Two hours i

Total exam marks: 180 marks FACULTY OF AGRICULTURE

Examiner's Committee: 1- Prof. Dr Yehia Mostafa  2- Prof. Dr. M._I\_“]]J'hamed Yacout ‘

3- Prof. Dr. Yasser Mabrouk |

Instructions: 1- Exam consists of (2) pages 2- Answer all the fullmﬁng questions |
First Question: iR | (90 marks)

. Mention the Mendel's first law and explain it using an example for it? (10 marks)

2. [Explain the genetics of ABO blood group? (15 marks)

tad

. The following table contains gametes number of Drosophila melanogaster in F1 for the cross

between wild type and the mutant of purple eye (pr) and vestigial wing (vg)

Calculate the genetic distance and draw genetic map between pr and vg? (20 marks)

Phenotype S gamete | Observed number

wild type pr’ vg' 1139

red, vestigial prvg 151

purple, normal prvg’ 149

purple, vestigial prvg 1061
4. Sickle-cell anaemia is a pleiotropic trait, explain this statement? (15 marks)
5. Compare between types of dominance? (15 marks)
6. Deline gene interaction and explain combs in fowl as an example for it? (15 marks)
Second Question: (25 marks)

1- Define in brief the cvtoplasmic inheritance?
2- Mention an example explains the mechanism of cytoplasmic inheritance with demonstrating

mother's role in this example?
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Third Question: (65 marks)

1- Explain Hershey-Chase experiment which demonstrates that DNA is the genetic material?

(10 marks)
2- What are the components of a nucleotide? (7 marks)
3- Illustrate important features of the DNA structure? (10 marks)
4- Define the term epigenetics? (6 marks)
5- Explain epigenetic regulation by histone modifications? (12 marks)
6- Illustrate gene cloning? (10 marks)
7- Explain the three steps of each polymerase chain reaction (PCR) cycle? (10 marks)

(The end of exam)
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Academic Year: 20162017 Semester:

Summer _
Department: Genetics Level: First 2o ZN :"ﬁE o |
Subject name & code: Prina.?iples of Genetics 20101 ﬁLEXANDRIA
Exam date: (Saturday) 19/8/2017 UNITVYERSITY |
2 k . Diamond JTuhilee Anniversary %
Exam duration & time: Two hours (10-12) 1942 - 2017

Fotal exam marks: 300 FACULTY OF AGRICULTURE

| Answer Instru_ctia.srlEan_cmlsistsﬁ(_Z)?ag_es_

‘xaminer's E}Emita:_l-ﬁﬁﬁr._ﬁ’ﬁmaﬁfﬁ- Prof. Dr. Mohamed Yacout |

3- Pof. Dr. Yasser Mabrouk |

2- Answer the followin g questions |

_ O R =
First Question: (150 marks)

[. Mention F1 and F2 phenotypes, genotypes and ratios of the two trait cross (dihybrid

cross) between pure round yellow seeds and pure wrinkled green seed of garden pea?

(20 marks)
2. Define the following: phenotype - genotype — alleles — locus — diploid (20 marks)
3. Mention the different genotype of ABO blood group in human (20 marks)
4. Write the offspring of the fol lowing crosses in red clover plants:
Seed parent X Pollen parent
S182 X S182
Seed parent X Pollen parent
S1S2 X §283 (20 marks)
5. Define Pleiotropy and explain an example for it? (20 marks)
6. Explain Dominant epistasis as a gene interaction case? (20 marks)

7. If +y+w+m testcrossed to yywwmm is giving the following results:

— i
(o next page
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| Gametes Numbers
| ek 441
Y Wm 400 |
| mt++ 24
yw+ 25 |
B e T
|y F N -
| y++ 49
 +wm 50 |

Draw the genetic map for the three genes y, w and m

(30 marks)

Second Question: (50 marks)

1. Define the cytoplasmic inheritance and mention an example?

Third Question: (100 marks)

(50 marks)

I. Explain Frederick Griffith experiment of the discovery of transformation?

[ ]

lad

. Explain DNA methylation?

. Illustrate epigenetics and human diseases?

. Explain Southern blotting technique?

Explain DNA Sequencing method?

(The end of exam)

Page 2 of 2

(15 marks)
(15 marks)

(15 marks)

Explain DNA transformation by electroporation and particle bombardment?

(15 marks)
(20 marks)

(20 marks)

Best wishes



Department: Pesticide Chemistry& Technology }f_,f;f'f \TK;;E =

Class: First ALEXANDRIA

UNIVERSITY =

Subject name & Code: Analytical Chemistry (17103)

Exam duration: Two hours FACULTY OF AGRICULTURE

Fxam date & time: 16/8/2016

Total exam grade: 200

Academic Year: 2016/2017 Academic Semester: Summer
Examiner's Committee:
Prof. Dr. Mohamed A. Radwan Prof. Dr. Hamdy Rashad Soltan

Answer the following questions: 1% part (100 Marks)

Question 1 (50 Marks): 1. Define the following:

Molar solution , Reducing agent , Neutralization curve , Law of mass action , Buffer solution
3. Calculate the molarity, ppm, and % for a solution that is 3.65 g/200 ml hydrochloric acid
3. Write only the equation which represent the following:

(a) pH for sodium acetate (b) Kw (¢) pH for weak base & its salt

Question 2 (50 Marks):

1. Calculate pH for each of the following solutions:

(a) 0.01 M NaOH (b) 0.01 M acetic acid (¢) 0.001 M sodium chloride (d) 0.001 N HCI

3. Define the indicator in neutralization reactions- Mention only the theories which explain its role ?
3. Balance this equation [ FeCls + SnClz < FeCl:+ SnCl4 | using Ion-electron method

2 " part (100 Marks)

Question 1 (60 Marks): Put (\I) for the correct statement and (X) for the wrong statement
for each of the following statements

1) - Solubility rules provide guidelines that tell us which ions form solids and which remain in their ionic
form in agueous solution.
2) - CaS0s and AgBr are both likely to form precipitates

3) - The solubility product constant, K, represents equilibrium between a slightly soluble ionic
compound and its ions in a saturated aqueous solution.

4) - The solubility of AgCl is decreased in NaCl than in pure water due to the common ion effect which is
responsible for the reduction in solubility of a slightly soluble ionic compound.

5) - The end point is evaluated with volhard method which uses an adsorption indicator whose color
when adsorbed to the precipitate is different from that when it is in solution.

6) -The solubility product constant (Ksp) for calcium fluoride (CaF3) is 4.0 x 10" if the solubility of
caleium fluoride (CaF3z) is 0.00022 mol LV in water P.T.O



7) -The field of electrochemistry that utilizes the relationship between chemical phenomena which
involve charge transfer and the electrical properties that accompany these phenomena.
8) - It is necessary to compare any electrode potential against a reference electrode such as hydrogen
electrode to obtain consistent electrode potential.
9) - The relative half cell potential of copper electrode is assigned a negative charge if the other half cell is
the hydrogen electrode.
10) - The general formula for calculating pH values for the glass electrode is E =K - 0.0591 pH whereis
K = asymmetry potential.
11) —If Ecen = -0.115 volt for the glass electrode at a pH of 4.00, then the pH of a solution for which E..y is
0.352 volt will be = 7.84
12) - Potentiometric measurements are made using a potentiometer to determine the difference in
potential between a working (an indicator) electrode and a counter (a reference) electrode.
13) - The glass membrane of the glass electrode serve as cation exchanger
H" ion ( Solution) + Na* in ( Glass) <> H" ion ( Glass) + Na“~ in ( Solution).
14) - If the Hydrogen gas pressured at 1 atm. and the hydrogen ion is 1 Molar of the Hydrogen electrode,
this mean that the electrode serve as indicator electrode (E = E°),
15) Ecen = E. — K. Where: E, is the reduction potential at the cathode and E, is the reduction potential at
the anode.

Question 2 : Select the appropriate answer (40 Marks):

1- Which of the following relationships between absorbance and % Transmittance is incorrect
a) A=1logie 100/ %T b)A=2- logie %T ) A=loginl/%T

2- In the  equation, A = ebe,  what quantity is represented by "
a) Absorbtivity  b) Molar absorbtivity ¢) Path length

3- Lambert - Beer's Law states that;
a) Absorbance is proportional to both the path length and concentration of the absorbing species
b) Absorbance is proportional to the log of the concentration of the absorbing species
¢) Absorbance is equal to Py / P

4- UV-Vis. Spectroscopy of organic compounds is usually concerned with
a) Electronic transition(s) of the absorbing species b) Vibration transition(s) of the absorbing species
¢) None of these

5- Which of the following components of a monoch romator is the dispersing element?
a) The collimating lens b) The entrance slit ¢) The diffraction grating
6- What is the unit of optical density?
a) Moles per L b) Moles per dm? ¢) dm? per mol d) unit less
7- Which type of liquid chromatography separation depends on interactions between solute, mobile
phase, and immobilized liquid stationary phase?
1) Adsorption  b) Partition ¢) lon-exchange
8- Thin layer chromatography is
a) Partition ch romatography b) Adsorption ch romatography c¢) All of the above
9- lon exchange chromatography is based on the

a) electrostatic attraction b) electrical mobility of ionic species ¢) adsorption chromatography
d) partition chromatography

10- The mechanism of separation depends mainly on the nature of the
a) stationary phase b) mobile phase ¢)aandb

Best wishes



8- The type of the following reaction is: CH;=CH; + H;0Q + NaBr ——=CH;-CH:-Br + NaOH
A- Substitution reaction B- Addition C- Elimination D- Rearrangement,

9- Types of isomerism in alkene compounds;

A - Structural similarity (chain isomerism)

C — Metamerism

10- The 2-Butene has two Geometrics isomerism:

B - Geomelrics isomerism

D -Both A & B are correct.

A-formula (2) is Trans-2-butene B - formula (1) is Cis —but-2-ene
C - Both A & B are correct D - all of the above incorrect.
H H CHy
-.:FX ! :‘3> e
H CH, | ® H
(1) (2)
Table of answers of question A
QNo.| 1 | 234567 3‘9 10
Letter | , ' | N
| |

The end u.fthe A ui:e;tiun

B- Differentiate Between Pair of the following (36 degrees) :-
' Nucleophilic Substation Reactions (Sy) | Electrophilic Substation Reactions {E_F}_
1
i Inductive Effect (1) Electromeric Effect (E)
l
2
|
- Tetrahedral H}Eidizatiun (SP) Trigﬂ;ml Hybridization (SFE)
3

The end of the liquestiﬂn




C- Draw or name the following organic compounds according to [UPAC
nomenclature : (36 degrees)

L 3 - =it
2
%U/\Mt}h
HT-W
' # Phenol § : A
£ 1% ]
: o—o—G—0O
Il %
/C“'\
H H
! ¥ 2,6-Dimethyl-Hept-3-yne | °
-
7
8
H ’T I I?
H—-C-0—H H—LC—C~C—n
L I |
H H
ki ¥ Ethylene Glycol ! _

End of the C guestion

D- By equations only, explain the mechanism of preparation for the following: (18 degrees):-

1. Oxidation of 2-Butene by ozone in the presence of zinc and HCL



2. Wurt's reaction to prolong the carbon chain for the preparation of alkanes.

End of the D guestion

E- Three aliphatic organic compounds containing the carbonyl group A, B and C were
interacted with the Grignard reagent (C,H;MgBr). Three longer intermcdiate  organo-
metallic compounds were produced, respectively D, E, F and hydrolysis of the previous
intermediate compounds, three alcoholics (first & secondary & tertiary) respectively G, H, 1
are finally formed. Write the chemical structures of the previous nine compounds and the

equations that indicate it. (20 degrees)

End of the 1" guestion




Question 2: (150 degrees)

A- Put (V) infront of the true statement and () in front of the false one in each of the
following: (40 degrees)

1- 1,4 bezenediol is called resorcinol

2- Primary amines are more acidic than secondary amines as it contains more alkyl
groups.

3- Reduction of nitro compounds will produce amide.

4- Oxidation of phenol will give benzoic acid.

5- Bromination is a nucleophilic substitution on benzene ring.

6- Hybridization in benzene is sp’.

7- Benzene can be prepared by acetylene polymerization.

8- By applying Huckel rule on naphthalene, the n value is equal to 2

9- Carboxylic acids have lower boiling points than similar alcohol due to its ability to
form dimer.

10- Electron withdrawing groups attached to the ring in the case of aniline decrcase
basicity.

Q.No.| 1 | 2 3 | 4 |5)| 6| 7] 8] 9 1{}‘

Mark N J
| ) | 1

The end of the A question

B- Mention only three conditions of aromaticity and give three examples for both
electron donor and withdrawing groups on benzene ring. (40 degrees)

The end of the B question




C- Explain with equations only mechanism of benzenc nitration. (40 degrees)

End of the C question

D-  Write the chemical name of the following structures: (40 degrees)

GH3 OH CHQC'
B |
NH2 Cl
- o "
CH;CH,CHC—OH
NO»> Cl Cl

End of the 2""’_ guestion

With best wishes for success




Alexandria University
Faculty of Agriculture
Pesticide Chem. Dept.

T puldS | sl
AL RARDEA el ETY

. Course Name and Code: Organic
Chemistry (17102)
Exam date & duration: (21/8/2017)-2 hour

1% level.

Academic year 2017/2016 summer semester

[ Examiners' Committee: Prof. Dr. Farid 5. Sabra Dr. Mahmoud S. Mahmoud i

e

Question 1: (150 degrees)

A- Choose one answer only for each question and write its number in front ol the sentence

1-

5-

number in the table prepared for this at the end of the question: (40 degrees)

The division of hydrocarbon organic compounds includes several sections:

A - Saturated hydrocarbons such as alkane. B - Unsaturated such as alkene and alkyne
C - Aromatic hydrocarbons D - All of the above are true.

The reactions of organic compounds are only a fraction (decomposition) of the bonds and the
formation of another new structure that is:

A- Heterolytic  B- Homealytic C - Occurs in covalent bonds D - All of the above are true.
The types of reagents that attack the bonds in organic compounds are classified into:
A- Electrophiles (E +) reagents B- Nucleophiles (Nu-)
C - Be charged or uncharged D - All of the above are true.

The type of the following reaction is: CH;3-CHy-Br + NaOH ———= CHy=Cll; + H,0+ NaBr
A- Substitution reaction B- Addition C- Elimination D- Rearrangement,

Ethylene glycol is :

A - Mono hydroxyl alcohol B — It is mainly used as anti [reezing
C- Its structure HO-CH;-CH;-OH D- Both B & C are correct.

The following compound CH=CH is:

A — Acetylene from Alkyne group B - Contains & triple bond (20 + I )
C - used as ripening gas D - all incorrect.

The type of the following reaction is: 2CH;-CH,-Cl + 2Na———>> CH;CH;,.CH;-CH; + INaCl
A- Kolb’s reaction B-Reaction chain prolongation

C- Wurt’s reaction D- Both B and C are correcL.



| Alexandria University

' College of Agriculture

Course: Rural Sociology
18102

sl Exam, Time:
Dept. of Rural Development ?Ej\——”"lf__‘ E“nl‘f;n;[gl::cgi‘:usu‘rs -
~ 2 N i3 s o L]
L FliioTseds | *m.*:—;:.'f‘*' | Exam Total Points: lifﬂ” |
Academic Year: 2016/2017, summer session

[ Exam. Committee: Pr. Mohamed Nabil Gamie, Prof. Mohamed Elezaby Prof. Mostafa Kamel

Answer All of the Following Questions:

First Question: (50) points:

What do we mean by the science of “rural sociology™ and mention
the benefits of studying this discipline.

Second Question: (50) points:

How do different countries distinguish between rural and urban
communities?

Third Question: (50) points:

List only (without explanation) the ten stages of community
development process.

Fourth Question: (50) points:

What do we mean by the process of rural development comparing
it with the process of agricultural development?
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Alexandria University : ;L.Cw Ko
Faculty of Agriculture [Js.L EXANDRIA

PN EERSAT Y

Department Of Home Economics

Exam of first term 2016 /2017 Date: 24 Jan 2017 Time: 2 Hours
Examiners: Prof. Dr. Samira Kandil, Prof. Dr. Mawaheb Ayad, Prof. Dr. lkram ragab

04102 Principals of home economics Total Grade : (120)

PR

Answer the following Questions:

Question | (20 grades)

Put by each statement {V) if the statement is correct or ( X } if the statement is Wrong

1- Home Economics is the field of knowledge and service to strengthen family and
community life.
7- Individuals and families needs do not change.

A- Extension personnel require training in subject matter only.

(
E
3- Home economics extension programs reach families through training lay leaders. (
{
5- Home Economics science is theoretical field. (

(

D L .

6- Continuous evaluation of extension programs is wasting of time and energy.

7- Only mature family members can contribute and participate in home economics
extension programs. { )

8. Home Economics extension programs offer money to support family stability. [ )

9. Sound technical knowledge should be tested under local conditions before
introducing to the people. ()

10-The learning-teaching process is an interaction between two or more individuals. { )

11-Home Economics extension work is based largely on research. -

12-Teaching objective refers to changes in behavior thatthe message is intended to

bring about. ()
13-Extension education values people more than it does things. (]
14-Extension education tends to direct the action of people through force. £

15-Home Economics extension contributes to change knowledge of the people only. [ )
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Choose the correct answer:

16-The ultimate goal of home economics extension is:

a- Well informed people
b- Better living

¢c- Teaching people how to handle changing problems
d- All the above

17-Home Economics extension supply consumer with sound facts based on scientific
research to make:

a- Wide decisions
b- Wise decisions
c- Reliable and unbiased decisions

18-1n the communication process the sender or the communicator can be:

An auther
Speaker

o oW
] ]

Demonstrator
All the above

o0
¥ i

19-Professional tools of extension worker include:

a- Subject matter specialist
b- Demonstration equipment
¢- Both (a) and (b)

20-Effective Home Economics Extension must be based on :

a- Local situations

b

C

Regional and national situations

People need
d- All the ahove
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Question i (20 grades)

Put by each statement (V) if the statement is correct or [ X ) if the statement is Wrong

1- Circulation means easy communication between rooms. ()
2. An effective work area should be planned to eliminate expenditure of time and

effort in daily work. ()
3. Planning the house improperly helps in simplifying the work and makes the time

spent on it more pleasant. {5
4- Repetition of shape or texture, calors and shapes results in rhythm. E o3
5. When arranging furniture, similarity and likeness should be taken into

consideration to produce harmony. _ ()

6- Grouping large pieces of furniture together when arranging furniture results
in balance.
7. Sanitation refers to the control of those factors which affect health.
8- Windows area equal to 10-15% of the floor area is considered desirable.
9- The amount of light entering the home depends chiefly upon color of the walls.

10-Flexibility means space which can be readily adapted to meet the changing

needs of the family. ()
11-Inadequate source of light causes less tension. i
12-Floors reflect the highest amount of light. ()
13-The color of ceilings should be dark., ()
14-High ceilings are desired in hot summer. ()
15-The location of doors and windows should provide for cross-ventilation. ()

Choose the correct answer:
16-Factors affecting the size of house:

a- location
b- size and composition of the family
c- Both (a) and (b)
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17-A place for everything and everything in its place means:

a- Saving time
b- Saving energy
c- Good storage

18-Rhythm is produced through:

a- Repetition
b- Texture
¢- Both (a) and (b)

1S-Improper lighting results in:

a- Strain on eyes

b- Serious damage to eyesight
¢- Strain on the nerves

d- All the above

20-Floors reflect:

a- 10-15% of the light
b- 10-20% of the light
¢- 15% of the light

Question 1lI (20 grades)

Put by each statement (V) if the statement is correct or { X ) if the statement is Wrong

1- Home management is the process of achieving goals.
2- Organizing resources is the first step in home management.

E
i
3- Implementation step helps to determine goals. (
4- Priorities are not considered when arranging objectives. (

{

5- Developing abilities and skills are managerial responsibilities.
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6- Wide ranges of decisions are made in planning step.
7. “Wwho does what” refers to implementing the plan.

2. Controlling step helps in putting the plan in action and keep moving.

g- Attitudes are non-human resources.
10-Decision making is the core of home rmanagement.

11-Time is unlimited resource.

12-Evaluation is a continuous process.

13-Energy is a non-human resource.

14-Management is aducational and achievable in family living.

15-Decisions should be made by adults.

Choose the correct answer.

16-Management is:

a- A human behavior

b- Mental process

c- No rigid rules in every situation
d- All the above

17-The process of home management does not change but:

a- Deals with other people
b- Continuous process
c- Deals with change

18-Achieving family goals through:

a- Using of family resources
b- Effective planning
c- Both (a) and (b)

Page 50fll
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19-The key for other managerial activities is:

a- Planning
b- Resources
c- Objectives

20-The process of creating a frame work is:

a- Implementing
b- Organizing
c- Carry out activities

The IV_Question {20 grades):

Put by each statement (V) if the statement is correct or { X ) if the statement is Wrong.

1- Health education for personal hygiene & nutrition is a continuous process. [ )
2- At the first year of life growth is slower than the second year. ()

3- Baby’s growth falling below normal may be related to the child’s nutrition or to a recent
sickness. { |}

4- Health promotion includes periodical examination -5

5- Growth can be measured by height and weight and comparing these with the average
for the age. i il

6- Natal care is the service which helps the pregnant mothers to get their medical care, [ )
7- The economic status of the family has a great influence on the child's growth and
development ()

8- The baby doubles his birth weight by the age of one year )
9- Postnatal care is needed during the postpartum period fi }
10- The newborn periodical checkup is done every month in the 1t year. ()
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11- For the first two years of a baby’s life breast milk alone, is the best possible
food and drink. ()

12- Pregnancies in women with medical conditions such as cardiac and renal
disease; require very careful planning or even complete prevention. B q

13- Family planning services influence the health of the family through
Prevention of hereditary disease Lol

14- The speed at which growth occurs varies at different age periods fe)

15- Abortion is an expulsion of the fetus before it is viable, before the end of 28" week { )

Choose the correct answer:

16 - Health protection

5. |s needed during the postpartum period
b. Includes periodical health examination
c. Means proper nutrition

17- Biological environment comprises:

a. living animals and plants acting as agents, or reservoir of agents
b, Endocrine glands
c. Geography of the place

18- The following are the factors responsible for individual variations:

a. Host factors
b. Extrinsic factors
c. Botha &b
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20 - The principles of a design are:

a. Balance, Proportion, emphasis & rhythm
b. Color, shape, line & texture
c. Hue, value & intensity

The VI Question (20 grades):

Put by each statement (v} if the statement is correct or ( X ) if the statement is Wrong.

1-All the animal proteins are complete proteins

2-Glycine is non-essential amino acid

3-A person should derive 50% of the total energy from fats
4-Adult person need protein from 0.8 -1gm/kg of body weight
5-Total body's need for energy includes two types

l[
(
(
(
'{
6-\itamin A and D are present in plant sources only (
7-Vitamyn K is important for synthesis of bload-clotting (
9-Minerals are the organic part in the body (
9-Excess in drinking water may lead to water intoxication (
10-Canned, frozen and dried fruits preferred than fresh fruits (
11-All dairy products are good sources of calcium (
12-Digestion of carbohydrates started in the mouth (
13-Excess of fat-soluble vitamins is toxic (
14-Calcium and sulfur are constituents of bones and teeth {

15-lactose is the least sweet sugar (

Choose the correct answer:.

1- Anything that nourishing the body is:
a. Nutrients
b. Food
c. Nutrition
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2- Water in the body:
a. 20%
b. 90 %
c. 55-65%

3- Macro minerals is:
a. Calcium
b. Selenium
¢. Sodium

4- The anti- scurvy factor is:
a. Vitamin A
b. Vitamin C
c. lron

5- |s known as the animal starch:
a. Glycogen
b. Lactose

c. dextrin

With best wishes. .}
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Alexandria University
Faculty of Agriculture
Department: Economics and Economics 03102
Agribusiness Exam duration: 2 Hours
Class: First Year Exam date & time: Summer
Session 2017
Total exam grade: 200

Subject name & code:
Principles of Agricultural

Summer Session of Academic Year 2016/2017

Examiner's Committee: Sherin Sherif, Ahmed Abulyazid, and Sameh Shehab. |

|

First Question: State whether the following statements are true or false OR
complete the missing spaces, wherever appropriate: (100 points)

B ST are different combinations of inputs (X and Xz) which
vield same output level (Y).

2. () Labor and Capital could be combined in many ways to produce the same
level of output.

3. The slope of the isoquant iscalled ....cocmivimiminininininicimnne

4. () The slope of the most known and common isoquant of imperfect
substitutes is always constant.

5. () Along an isoquant, MRTSxe = -MPPu/MPPa.

6. () lsocost line is all combinations of resources (inputs) that produce the
same level of output.

7. () Slope of the isocost line is variable from one point to the other.

8. () Ineconomics, we try to find the minimum cost to produce a given level
of output.

9, The tangency point of the ..ocvviniiaineens andthe ..coveeceuimnne. gives
you the least cost point of production to produce a certain level of output.

3 1 Nt 5 40y LAV e shows all combinations of products Y
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11.( ) Relative prices of the two outputs (Py1 and Py2) determine the allocation
of resources (inputs) to the two products Y and Ya.

| B e T R measures the rate at which Yiis
substituted for Yz along PPC.

B R T T S R S R R defines all combinations of products:
Y1 and Y2 which yield the same level of revenue, given prices Py and Pya.

14.( ) Net Revenue (profit) is minimized at the tangency point between PPC
and Isorevenue Line.

15. Slope of the isocost line isequal to ..cvcmimecicininanna.s

16.( ) In economics, we try to find the minimum cost to produce the maximum
level of output.

17.( ) Opportunity cost is a form of implicit cost.
18. () As output level increases fixed costs increases.

19. If the difference between receipts (returns) and expenses (costs) is positive, we
say that the individual producer achieved ..........cociciiimiainiiains

20, TR, o vmipmnmyirrs B vumemamsmen oy mi s

22.( ) Both of the AVC and ATC are U-shaped.
23.( ) ATC reaches minimum before AVC.
24.( ) AFC declines with the increases in the level of output.

25.( ) MC is falling as output increases; then MC increases all the way as
output increases.

Page2 of 6



27.( ) Economic profits are usually lower than Accounting profits.

28. In a perfectly-competitive market, the individual producer should produce the
level of output Y at which v.cvanimenen.- Ieomal 0 naai e 5 if
he/she is to maximize his/her profits.

29.( ) The isoquant is negatively sloped.

30.( ) The production function is a physical relationship between output and
inputs.

31.( ) The maximum of TPP is the end of stage II of production.

32.( )Y = f(x1, x2/ x3, x4), is a long run production function.

33.( ) The fixed costs are unrelated to the level of output.

34.( ) The isorevenue line has a negative slope.

35.( ) All points on an isoquant have the same output level (Y).

36.( ) The isoquant for perfect substitutes is a straight line,

37.( ) Both stage I and I of production are irrational.

38.( ) Agriculture is characterized by having production lags.

39.( ) Consumers’ response to price changes of agricultural and food products
is very fast.

40.( ) Climate is a very important factor that affects agricultural production.
41.( ) Farmers’ incomes fluctuate with market prices.

42.( ) Agriculture is probably the only industry that could be characterized as
being “ perfectly competitive” .
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43.( ) Agriculture is characterized by having high fixed costs.

44.( ) Government intervention is usually very high in agriculture, particularly
in developing countries.

45.( ) The individual producer’ s problem is that she wants to maximize her
profits given her resource (input) constraint,

46.( ) In economics, the individual producer is never interested in maximizing
his level of output.

47.( ) TVP is total variable production. It is equal to TPP * PY

48.( ) AVP of X; is average value product of X; and it is equal to TVP of Xy
divided by Y which is the level of output.

49.( ) MVP of X; is marginal value product of X, it is equal to ATVP/AX.

50. .oiiiisiiinis..is the difference between TR and total variable cost (TVC).

Second Question: Choose the letter which best describes the answer: (40 points)

T is a combination of two products produced from a given set of inputs.
(a) the isorevenue line (b) the PPC ]
(¢) the isoprofit line (d) the isocost line

2. .....is an explicit cost

(a) owned land (b) labor wages

(c) chemicals costs (d) band c

3. In the short run (SR):

(a) all costs are variable (b) all costs are fixed

(c) all costs are implicit (d) some costs are variable some fixed

el |

4. In the long run (LR):

(a) all resources are variable (b) all resources are fixed

(¢) some resources are variable (d) some resources are fixed

5. Marginal cost (MC) is:

() additional cost (b) ATC/AY

| (c) ATVC/AY (d) all answers are correct
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6. The average fixed cost (AFC):

(a) is always decreasing | (b) is equal to TC/Y

(c) is fixed |(d)aandb

7. Economic costs can be categorized into:
(a) fixed and variable costs (b) explicit and implicit costs

| (c) total and unit costs (d) all answers are correct

8. The conditions for perfect competition are:

(a) small # of large firms (b) heterogeneous product

| (¢) large # of small firms (dybandc

9, At the intersection of APP and MPP:

[ (a) MPP = APP [ (b) MPP is maximum

| (c) stage II starts (d)aandc

Third Question: Complete the following table knowing that the unit price of
output (Pv) = 520 and unit price of the variable input (Px1) is $120 and that X, is
the variable input (60 points)

- Fill up the missing spaces in the table (50 points).

- Determine the level of X that will maximizes the individual producer’ s net revenue
(NR) (4 points)

- State the optimality condition in this case (6 points).

(X1) kg, | (Y)tons | (APPx) in | (MPPu) in | (TVP)S | (MVPx1) | (MFCx1)
tons tons .5 S

0 T

10 | 120

120 15

30 440

40 13.3

50 620

60 11.3

L
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70 720
80 740
90 720
100 68

(The end of exam) ----
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Aléxandria University i Subject name & code:
Faculty of Agriculture g. : " Principles of Agricultural
Department: Economics and 3 Economics 03102
Agribusiness e Exam duration: 2 Hours
Class: First Year Exam date & time: 10-12
Wednesday, 31/5/2017
Total exam grade: 120
Academic Year 2016/ 2017 Academic Semester: Second
[ Examiner's Committee: Sherin Sherif, Ahmed Abulyazid, and Sameh Shehab. }
L = =

First Question: State whether the following statements arve frue OF false OR
complete the missing spaces. wherever appropriate: (53 points)

bi suscsisisninnnsrsssnonusnonsmnraine are different combinations of inputs (X1 and X3)
which yield same output level (¥).

2. () Labor and Capital could be combined in many ways to produce the same
level of output.

3. The slope of the isoquant is Called .....oenrmmrmissmsnsssmmsnsrmmmeemssas e

4, () The slope of the most known and common isoquant of imperfect
substitutes s always constant.

5. () Alongan isoquant, M RT Sz = -MPP/MPPs2.

6. { )lsocost line is all corabinations of resources (inputs) that produce the
same level of output.

7. () Slope of the isocost line is variable from one point to the other.

8. ( ) Ineconomics, wetry Lo find the minimum cost to produce a given level

of cutput.

9, The tangency point Of the ....ooovvimsnrmnemreanen and the ...coeeemmainiins
gives you the least cost point of production to produce a certain level of
output.

0L e e R s AR R A e A b shows all combinations of
products Y1 and Y that can be produced from a given set of resources
(inputs).
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11.( ) Relative prices of the two outputs (Py; and Py;) determine the allocation
of resources (inputs) to the two products Y and Ya.

T measures the rate at which
Y1 s substituted for Y2 along PPC.

1 e P N S ek i R e R N defines all combinations of
products: Y1 and Y2 which yield the same level of revenue, given prices Py,
ﬂ.l'l.d P!,"L

14.( ) Net Revenue (profit) is minimized at the tangency point between PPC
and Isorevenue Line.

15, Slope of the isocost line is qUAL 10 .......ovovnniiniiniinininninis

16.( ) In economics, we try to find the minimum cost to produce the maximum
level of output.

17.( ) Opportunity cost is a form of implicit cost.

18.( ) Asoutput level increases fixed costs increases.

19. It the difierence betwecn receipts (returns) and expenses (costs) is positive, we
say that the individual producer achieved

----------------------------------------------

22.( ) Both of the AVC and ATC are U-shaped.

23.( ) ATC reaches minimum before AVC.,

24.( ) AFC declines with the increases in the level of output.
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25.( ) MC is falling as output increases; then MC increases all the way as
output increases,

27.( ) Economic profits are usually lower than Accounting profits.

28. In a perfectly-competitive market, the individual producer should produce the
level of output Y at which .......cccoiviinnine is equal to
........................... , if he/she is to maximize his’her profits,

29.( ) The isoquant is negatively sloped.

30.( ) The production function is a physical relationship between output and
inputs.

31.( ) The maximum of TPP is the end of stage !l of production.

32.( )Y =1f{xl, x2/ x3, x4), is a long run production function.

33.( ) The fixed costs are unrelated to the level of output.

34.( ) The isorevenue line has a negative slope.

35.( ) All points on an isoquant have the same output level (Y).

36.( ) The isoguant for perfect substitutes is a straight line.

37.( ) Both stage 1 and 111 of production are irrational.

38.( ) Agriculture is characterized by having production lags.

39.( ) Consumers’ response to price changes of agricultural and food products
is very fast,

40.( ) Climate is a very important factor that affects agricultural production.
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41.( ) Farmers’ incomes fluctuate with market prices.

42.( ) Agriculture is probably the only industry that could be characterized as

being “perfectly competitive™.

43.( ) Agriculture is characterized by having high fixed costs.

44.( ) Government intervention is usually very high in agriculture, particularly

in developing countries.

45.( ) The individual producer’s problem is that she wants to maximize her
profits given her resource (input) constraint.

46.( ) In economics, the individual producer is never interested in maximizing

his level of output.

47.( ) TVPistotal variable production. It is equal to TPP * PY

48.( ) AVP of X; is average value product of X, and it is equal to TVP of X,
divided by Y which is the level of output.

49.( ) MVP of X; is marginal value product of X it is equal to ATVP/AX,.

50, .ieeiiiiiniininnen...is the difference between TR and total variable cost (TVC).

Second Question: Choose the letter which best describes the answer: (18 poiats)

| F— is a combination of two products produced from a given set of inputs.
| (a) the isorevenue line (b) the PPC
(c) the isoprofit line (d) the isocost line

(a) owned land

2, ......ls an explicitcost

e

(c) chemicals costs

(d)band c

3. In the short run (SR):

(a) all costs are variable

(b) all costs are fixed

(c) all costs are implicit

4. In the long run (LR):

!d! some costs are variable some fixed

| (a) all resources are variable

(c) some resources are variable

(0) all resources are fixed

(d) some resources are fixed
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5. Marginal cost (MC) is:

(a) additional cost

(b) ATC/AY

(c) ATVC/AY

(d) all answers are correct

6. The average fixed cost (AFC):

(a) is always decreasing

(b} is equal to TC/Y

(c) is fixed

(djaand b

7. Economic costs can be categorized into:

(a) fixed and variable costs

(b) explicit and implicit costs

(¢) total and unit costs

{d) all answers are correct

8. The conditions for perfect competition are:

(a) small # of large firms

(b) heterogeneous product

(c) large # of small firms

(dybandc

9. At the intersection of APP and MPP:

(a) MPP = APP

(b) MPP is maximum

(c) stage 1l starts

(d) aand c

Third Question: Complete the following table knowing that the unit price of

output (PY) = 320 and unit price of the variable input (’X1) is $120 and that X1

is the variable input (39points)

- Fill up the missing spaces in the table (30 points).

- Determine the level of X that will maximizes the individual producer’s net revence

(NR) 3 points)
- State the optimality condition in this case (6 poinis).

(X)) kg. |(Y)tons |(APPx) in | (MPPx) in | (IVP)S | (MVPx1) | (MFCxi) |
tons tons s 5

0 0 = J— o

i0 120

20 15

30 440
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40 135

50 620

60 113 Bl
70 720

80 740 .

90 720

100 6.8 (0]

Fourth Question: Label what is missing in this

@

h: (10 points

(The end of exam)
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Academic Year: 2016/2017 Summer Semestér

Department: Applied Entomology. v “:/’/
Level: one. Lw

Subject name & code: Zoology 11101

Exam date: (Sunday) 20/08/2017 ALEXANDRIA,
Exam duration & time: Two hours (10-12 pm) UNIVERSI
Total exam marks: 180 marks FACULTY OF AGRICULTURE

- Examiner's Committee: 1- Dr. Hossam M. Zahran 2- Dr. Ahmed M:Iﬁl-gﬂi}t."(_]ilt .

Answer Inbtruttmns 1- Exam consists of (3) pages 2- Answer all the questions

First Ouestiﬂn: (90 marks)

1) Define the following terms: (18 marks)

a) Syneytial cells (Osteoblast cells) ¢) Binomial nomenclature
b) Endoplasmic Reticulum (ER) functions  d) Planaria Excretion

2) Compare between of each the following terms: (20 marks)

a) Cukaryotic animal & Eukaryotic plant cells in cell wall, lysosomes, chloroplasts

centrioles. (10 marks)
b)Open & Closed types of the circulatory system. (5 marks)
¢} Pseudocoelomates & Acoelomates. (5 marks)

3) In table, mention the Nutrition types, Locomotor Apparatus, Reproduction

tvpes of the following models: (20 marks)
Amoebasp - [Luglenasp - Plasmodium sp - Paramecuim sp

4) Briefly explain the following sentences (by drawings if available): (16 marks)

a) Eukaryotes probably arose by endosymbiosis.
b) Many protists with delicate surfaces are successful in quite harsh habitats,
¢) Parasitic Adaptations of Tapeworms & Flukes

5) Only by drawings illustrate the following items: (16 marks)

a) Fluid mosaic model of plasma membrane by Singer & Nicholson (1972). (3 marks)

I (o next
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b) Life cycle of Shistosomes. (4 marks)

¢) Hydra body plan. (4 marks)
d) Codosiga sp & Trichomympha sp (Zoomastigotes). (3 marks)
e) lellyfish - Class Scyphozoa. (2 marks)

m

Second Question: (90 marks)

1) Define the following terms: (28 marks)

1-Pearl 4-Madreporite 8-Radula
2-Test 5-Papullae 9-Chitin
3-Amnion 6- Ampulla 10-Biramous appendage

7-Mantle

2) Fill in the blank for the following sentences: (46 marks)

o S R N e e ammser et and ... have ink sacs.

b)All chordates have four basic characteristics
L IR e B O S

¢) Brittle stars are divided into 3 groups according to........, ......and........ .

d)Class: Gastropoda is divided into two subclasses: A=..oovvoooo Beoooo

e) Excretion in class insect is by ..............which are extended into hemoceol
and collect nitrogenous wastes which they are converted into crustals
called....... :

f) Feather star are pertained to phylum................... . ¢lasS.....ooooeo

g)l'ive adaptations has contributed o the success of Arthropds as a group:
Levasameanainy R e IO - T

h)Invertebrate chordates including sub phylum ........cooooiiiiiiiiii, like
Lancelets and sub phylum ......................... like Tunicate.

1) Life eycle of Ticks i« R 3T S

1) Molluscs have a three-part body plan: ..................oand.eoooee ;

k) Molluscs have development with the presence of a .................. larva and in

most casesalsoa ........ooenuns larva.

(o next

e
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t1) The life cycle of in crustacians: ;o larvaell o Yo oo
0)Shell of molluses is composed ol.......... and.......with an inner layer of......... ;
p)Excretion in Arthropoda are by.......ccecoeenee. ST and.......coeeeenneens :

3) Draw with complete labels: (16 marks)

A- Diagram tor the anatomy ol mollusks, (10 marks)
B- The Water-Vascular System in phylum Echinedermata. (6 marks)

(The end of exam)

Best wishes
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Academic Year: 2016/2017 Semester: 1" ' }‘: ;“"' L ) ? )fr/ ' e’:
Department Plant Pathology ~ Levek: o NCA ~
Subject name & code : Botany 0711 ; |
Fxam date; Tuesday 10/1/2017 AI‘EXAND RIA
Fxam duration: 2 hours & Time : 10:12 am

Total exam marks: 180 Marks

- UNIVERSITYSY
FACULTY OF AGRICULTURE 3

Examiners’ Committee: Prof. Dr. Eid Abo-Taleb; Dr. Ahmed El-Bebany; Dr. Doaa Komeil

Answer Instructions:
1. Exam consists of (2) pages with (5) questions. 2. Answer questions (1) and (2) in the question sheet.
3. Answer questions (3), (4) and (5) in the answer sheet.

First Question: Mark N ) or ( x ) sign in front of each statement: (60 marks)

The function of root cap (calyptra) is to protect the root apical meristem.

Roots are not normally green in colour.

The specific function of root hair zone is to release the toxic compounds out of the plant body.
Corms are Storage tap roots.

Apical meristems can be modified to flowers in the racemose branching.
Branching in plants is a result of activation lateral buds.

Phylloclade (Cladophyll) is a green photosynthetic flatiened stem.

Bulb is a discoid subterrancan stem with compactly fleshy leaves.

Seed is the product of sexual reproduction (fertilized ovule) of flowering plants.
In the cymose branching, both apical and adventitious buds continue to grow.
Buds are located only in the axil of a leaf.

Cells of plant tissues are connected together by plasmodesmata.

Plastids and mitochondria contain double membrane.

Haustorial roots are type of tap roots produced by dodder.

The two types of venation in plant leaves are reticulated pinnate and reticulated palmate.
Vacuole is important for water balance in plant cell.

Mitochondria can be divided independently from the mother cell.

Cell is the structural and functional unit in organisms.

Simple tissue consists of one type of cells.

The periderm is found only in roofs.

Xerophytes are lacking of root hairs.

The stomatal guard cells have irregular thickening in their cell walls.

Stem of monocots has closed vascular bundles.

There are no cork cells in plant leaves.

Phloem tissue is found in root and stem, while absent in leaves.

There are air spaces in tissues of hydrophytes.

Tyloses are a type of solid xylem tissue.

Casparian strip is found only in pericycle tissue.

Radial vascular bundles are found only in monocot plants.

Passage cells control the flow of water from the epidermis to the xylem.

Page 10f 2 Go to page (2)



Second Question: Complete the following sentences: ( 60 marks )

el - is the absorption region (zone) on roots,
- Buds are classifiedinto ... & according to their position on plants.

T 8T€ formed from any part of the plant other than the radicle.

- In Bougainvillea, the axillary bud is modified into

- Plants are classified according to the length of the life cycle SN SRR s AR
T 1S the eylindrical part that attaches the blade to the stem.

- The type venation in monocots leavesis. L

- The function of mitochondria R
- TN - are non-protoplasmic components of plant cell.

- The layers of plant cell wall R B R s o
- The outer layer of cytoplasm iscalled ... ... .. . 2

- The vascular cambium in old roots is dividedtogive..............._ & e STV S

- Lateral root is originated from .. A
- Buds are classified according to nature of growthinto .. W e )
- Pericycle tissue in roots are formed from . cells however in stems are formed from
- Stuken stomata is foundin .. plants
Third Question: Write about five (5) lines on the followings: (20 marks )
1. Functions of roots. 3. Tylosis.
2. Plastids. 4. Companion cells.
Fourth Question: Compare between each pair of the following: (20 marks )
1. Hypogeal and epigeal germination, 2. Meiosis I and I1.
3. Primary and secondary cell walls. 4. Tracheids and vessels of xylem.
Fifth Question: Draw labelled diagrams showing: (20 marks )
1. Storage tap roots. 2. Potato tuber.
3. Cystolith. 4. Types of vascular bundles.

(The end of exam)

CBast wishes
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Department: Applied Entomology .
Class ‘First grade.

Subject name & code:Principles of
Entomology 11102

Exam duration: 2 hours

date & time: 14/8/2017

Total exam grade:300

Academic Year:2016 /2017. Academic Semester: ,summer semester.

]Tﬂﬁ miner's Committee: Prof Dr.Hedaya Hamza& Prof Dr.Ablam Alfazairy |
b ceases |

Answer Instructions:

1. All questions are obligatory. 7_Exam consists of 3 pages.

Answer the following questions:

Questionl: (200 degree s)

Write down (at the end of each sentence) the scientific term (200 degree):

1- The phylum of class Insecta.

5. |nfraclass of dragonflies and mayflies.

3- The portion of the cuticle that give rigidity 1o body wall

4- Morphological and physiological changes in insect to reach adult stage.
5. Locomotion center of insect.

6- Insects that feed on one species of plants.

7. Insects that feed on other insects.

8- The non-chitinous cuticle.

9. The anteriorly directed position of the mouthparts.

10- Three useful products of honey bee.

11- An example of an ingrowth process of body wall.

12- The three main components of body wall.

13- Medicine extracted from larvae of blowfly.

14- A layer of the cuticle that prevents the loss of water from insects.

15- The five main components of mouth parts.

Page 1 of 3



d- Accessory glands in male insects,

B PO Y T T i e L e e

Question 3-(50 Degrees)

Identify the following diagrams and write the name of each label :

(The end of exam)

Best wishes
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Academic Year: 20162017 Semester: Summer

Department: Plant Pathology Level: The first }‘:' :’[/ S } }‘F/f r':/
Subject name & code: Botany 07102 Mﬁg M >
Exam date: Sunday 27/8/2017

Exam duration & time: 2 hours (10-12) ALEXAND RIA

UNIVERSITEY

Total exam marks: 300 Marks.  yee bk

FACULTY OF AGRICULTURE 2=

Examiner's Committee: Prof. Dr. Ibrahim I{hai"ry - Prof. Dr. Yehya El Faham - Dr, Maha Kawanna |
Answer Instructions: 1- The exam consists of (Two) pages with (Four) questions. 2- Answer the first,

third and fourth questions in the same exam papers. 3- Answer the second
question in the cover sheet. 4- Fix the exam paper in the cover sheet using the pin.

First Question: Write "Yes" in front of the correct sentence and "No" in front of the wrong

11-

12-

13-
e [
......... 15-
......... 16-
......... 17-
......... 18-
......... 19-
A |
......... 21-
Gessin L
......... 23-
......... 24-
......... 25-

26-

27-
PRI .
,,,,,,,,, 29-

30-

one: (120 Marks)
One of the aims of the taxonomy is giving names to organisms.
Theophrastus classified plants into trees, shrubs and herbs and distinguished between
annuals and perennials.
In gymnosperms, the seeds are borne freely exposed on the megasporophyll.
Ibn al-Bitar described 1400 plants in Kitab al-Jami fi al-Adwiya al-Mufrada.
Thallophytes are any plants lacking true stems, leaves, and roots.
Fucoxanthin is a brown pigment that is found in most brown algae,
In the flower, double fertilization resulted in formation of the embryo and endosperm.
Stored food in cells of green algae is chrysolaminarin,
Blue green algae have Eukaryotic nuclei
Lycopodium is heterosporous plant.
Dioecious plants bear the male flowers on plant and female flowers on another plant.
Bryophytes contain a well-developed vascular tissue.
Cycas stem is short, erect with crown of pinnate leaves arranged spirally around the apex.
Chloroplasts are cup shaped in Chlampdomonas and spiral in Spirogyra.
Bryophytes need water for the fertilization process.
Simple dry fruits classified, due to the nature of pericarp, into drupe, berry or pseudocarp.
Folvox is characterized by division of labor.
Follicle fruit develops from a single carpel and opens along the ventral and dorsal sutures.
Marchantia reproduces asexually by gammae cups.
Funaria has two distinet phases of gametophyte
Pinus are monoecious, each tree bears both male & female cones.
Rhynia plant lacks true leaves and carries the spores in synangium.
The plant Ephedra forms compound female and male strobili.
Androecium is the male organ of the flower, it consists of stamens.
The sporophyte is the dominant stage in bryophytes life eycle.
Flower is a shoot modified for sexual reproduction.
Composite fruits formed from a group of flowers of one inflorescence
The gynoecium of Family Fabaceae consists of one carpel & the placentation is marginal,
Ginkgo is a gymnosperm plant, carry green needle-like leaves born on dwarf branches.
Endosperm of flowering plants has nuclei with triploid number of chromosomes.

Second Question: Illustrate (10) only of the following with clear labeled diagrams: (90 Marks)

1- Trichome of Nostoc. S-L.S. in male strobilus of Pinus. 9. . S. in Selaginella strobilus.

2- Cell of Chlamydomonas. 6- Pollen grain of Cycas. 10- Life cycle of Zygotic meiosis,

3- Male conceptacle of Fucus. 7- Spore with elaters of Equisetum. 11- Three types of Placentation,
4- Thallus of Laminaria. 8- Gametophyte of Adiantum. 12- Three types of Racemose inflorescenc

Go next page
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Third Question: Choose the correct answer and write the proper letter in the table: (50 Marks)

'l an.

Sentence No. 1 [ 2 | 3 4 | 5 f | 7 B I % i{]_‘
L Answer letter ‘| '

1-Carl Woese proposed the classification of Life in:
a- Three Domain and six Kingdoms. b- Three Domain and five Kingdoms. c-Four kingdom.
2-The algae under division Rhodophyta characterized with:

a-The female organ is carbogonium. b- Stored food is Floridian starch. c-both a&b.
3- Pheophyta include:
a-Laminaria sp. b-Actabularia sp. c-Nostoc sp.
4- The fusion between two gametes identical in structure and size known as:
a-Isogamy. b-Oogamy. c-Heterogamy.
5- In the fern Adianium, the sori type is:
a-covered with false indusium. b-covered with true indusium. c-Naked sori.
6- This family is belonged to class Liliopsida:
a-Fam.: Brassicaceae. b-Fam.: Liliaceae. ¢-Fam.: Asteraceae.
7-The most important character of Magnoliophyta:
a- The dominant phase is gametophyte. b- Formation of seeds. c-Both a&hb,
8- The simple dry dehiscent fruit which composed of two carpels separated by false septum:
a-Legume. b-Siliqua. c-Capsule.
9-In the case of inferior ovary, the flower is:
a-Perigenous. : b-Hypogenous. c-Epigenous.
10-Examples of simple dry dehiscent fruits:
a-Nut and caryopsis. b-Legume and follicle. c-Cypsela and samara.
Fourth Question: Complete the missing word(s) in the following sentences: (40 Marks)
1- The green algae structure may be single cells like ............... T or colonies such as

...................................... or filament such as

2- Pinus has two types of leaves: ... ) o Let e

B oeiiiirereeeinen, i8 the type of arrangement of the sepals, petals or tepals, it has
typessuch as ...

4- The plants: .......cooovvvviviciiiiiiein i sesniilisi e Bt insnn s are classitied

in one group called Archegoniata.
5- The archegonium consists of two parts ... A0 nsaanasaa e
6- Family: Solanaceae include economic plantssuch as .......oand .
7- Pollination in the flowering plants known as:

8-There are two types of aerial stems in Equisefum: .................covvnns A R

9-The sporophyte of Marchantia consists of three parts ..., ..........and .

(The end of exam)
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Department: Applied Entomology

Class: First level /t L= |— -
Subject name & code: Entomology 11102 CM“ M
Fxam duration: 2 hrs.

Exam date & time: 18/6/2017 (10 — 12) ALEXANDRIA | | e

Total exam grade: 180 - mark UNIVERSITY
FACULTY OF AGR]CULTU s

Examiner's Committee: Prof. Dr, Hedaya H. Karam Prof. Dr. Ahlam A. Alfazairy

Answer Instructions:

1- Answer all the following questions. 2- Examination of five pages

First Question: (140- mark): Write down (at the end of each sentence) the scientific term.

|- Indirect wing muscles run between the notum and sternum.

2- The anterior margin of the insect wing.

3- Appendages of the postgenital segments.

4- The membranous lobe between the tarsal claws.

5- During walking, they serve mainly as organs of traction.

6- A flattened, double — layered expansion of the body wall.

7- Tt is of importance in the taxonomy of insects.

8- The anterior region of the wing containing the bulk of the veins.
9- Position of mouthparts in weevils.

10- It serves as a brace for the head, and for muscle attachment.
11-By their contraction, the tergum raises and wings move down.

12-An articular sclerite located at the base of the coxa in the more primitive insect orders.

13-It serves as a channel for the return of haemolymph from the wing to the thorax.

14- Antennae with antennal musculature in each unit of the flagellum.
15-The portion of the preoral cavity between the hypopharynx and labium.
16-The non-chitinous cuticle.

17-The middle epicuticular layer which acts as a barrier to the penetration of insecticides.

18-The cuticular layer that is tanned by sclerotin.
19-A hypodermal secretion for digestion of the old endocuticle at moulting.

20-The physical routes by which the hypodermal cells pass their secretions to the cuticle.
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21-The cuticular parts discarded at a moult.

22-The tergal sclerite which has two notal wing processes.

23-A tendency for addition of abdominal segments after hatching,.

24-An appendage of genital segments of the female.

25-Sense organs, in Diptera, concerned with the maintenance of stability in flight.
26-Phytophagous insects that feed only on one particular plant species.
27-Insects which live on the outside or inside their hosts.

28-Insects used in biological control of insect pests.

29-Insects which serve to remove unhealthful material from man-surroundings.
30-A valuable product of insects used for finishing wood.

31-A valuable product of insects used as a colouring agent for medicines.

32-A valuable product of insects used for the treatment of certain urogenital diseases.

33- A nitrogenous waste excreted by the maggots of the blow fly used as a therapeutic
agent.

34-A valuable product secreted from salivary glands of Bombyx mori larvae.

35-The hormone that controls sclerotization of the cuticle.

36-Cells which in most insects produce the crystalline cone.

37-The region of close association between terminal arborizations and dendrites.

38- An insect system which regulates slower and longer-lasting changes.

39-A part of each neuron that is specialized for the reception of the stimuli.

40-The basic functional units of the insect nervous system.

41-The ganglionic mass in the insect brain that innervates insect eyes,

42-The photoreceptive units of compound eyes.

43-Electrochemical changes that pass along the nerve cell

44-The arrangement of Malpighian tubules when they are closely associated with the
rectum.

45-In some blood — sucking insects, it contains an anticoagulant.

46-The microorganisms which provide Stegobium with B-vitamins and sterols.
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47-1t forms a delicate lining layer to the midgut.

48-A jelly-like capsule, in which the sperm are transferred to the female.
49-In the hindgut, it functions as a molecular sieve.

50-An insect has not Malpighian tubules.

51-In Pieris rapae, it stores in its scales of wings and gives them the white colour.

52-A type of ovarioles has no trophocytes.

53-1It is the production of two or more larvae from a single egg.

54-Tt is the parthenogenetic production of females.

55-A type of reproduction by larval stage.

56-Small rounded haemocytes with a large nucleus, and give rise to the other types of
haemocytes.

57-1t is a period of rest after diastole.

58-It is the first part of the hindgut and from it the Malpighian tubules often arise.

59-It may serve both as mechanoreceptor and chemoreceptor.
60-The external openings of tracheae.
61-Tracheal dilations, found mainly in flying insects.

62-Tracheal structures which provide a large surface area for gaseous exchange.

63-A tracheal system with two pairs of functional spiracles.

64-Type of ventilatory system with no functional spiracles.

65-Integumental evaginations covered by a very thin cuticle and well supplied with
tracheae and tracheoles.

66-The ventilatory process which involves rhythmical pumping movements of the insect
body.

67-Haemocytes which are defensive in function.

68-It makes up about 5 — 40% of the total body weight of an insect.

69-Organs which are concerned with pumping haemolymph through antennae, legs, and
wings.

70-A long cytoplasmic projection of the perikaryon.
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Second Question: ( 40 -mark) Only by labelled diagrammes, illustrate each of the following.

1- Sequences of the insect leg movement at 2-Pretarsus of a dipteran.

normal speeds.

3- Features of the insect wing.

4- The coxal articulation with one hinge 5. The general structure of male external
genitalia.

only.
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6- Trichoid sensillum. 7- The filter chamber of Homoptera.

8- Phases in the insect heartbeat

10- General structure of an ovariole 11- Ditrysian female reproductive system of
Lepidoptera.

(The end of exam)

Best wishes
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Academic Year: 2016/2017 Semester: Second

Department: Plant Pathology Level: The first }j ;”” ;./, 'f )’: :': 5
Subject name & code: Botany 07102 7 : -
Exam date: 4/6/2017

Exam duration & time: 2 hours (10-12) ALEXANDRIA im

Total exam marks: 180 Marks.

FACULTY OF AGRICULTURE %

Examiner's Committee: Prof. Dr. Yehya El Faham - Prof. Dr. Fathalla Zaitoun - Dr. Maha Kawanna
Examiner's Committee: v

Answer Instructions: 1- The exam consists of (Two) pages with four g_ uestions. 2- Answer the ﬂrst:third and
fourth questions in the exam papers. 3- Answer the second question in the cover sheet,

First Question: Write "Yes" in front of the correct sentence and '"No" in front of the wrong one: (60 Marks)
......... 1- Zoospores of Vaucheria are compound and multi flagellated.

......... 2- The dominant stage in Bryophytes is the sporophyte.

......... 3- Marchantia reproduces sexually and asexually.

......... 4- Achene fruit develops from a single carpel and opens along the ventral and dorsal sutures.

......... 5. The manuseript of Ebers was illustrated by ancient Romans' showing their knowledge of herbs and their
medicinal uses,

......... 6- Sori of Adiantum are covered with true indusium
......... 7- In Fucus the life history is gametic meiosis.
......... 8- The sporophyte is dominant in the diatom life cycle.
......... 9- Lycopodium is heterosporous plant.
......... 10- Xanthophyll is a brown pigment that is found in most brown algae.
......... 11- Pteridophytes lack cuticle and stomata.
......... 12- Phycoerythrin and phycocyanin are present in green algae.
......... 13- Ibn al-Baytir is considered the founder of Arab botany, he has written "book of the plant,"
which is of six volumes.
......... 14- One of the aims of the taxonomy is giving names to organisms.
......... 15- In liverworts, the gametophyte is small and flattened green thallus,
......... 16- Nut, caryopsis and drupe are examples of simple dry dehiscent fruits
17-Schizocarpic fruits are divided into number of fruitlets called mericarp.
......... 18- Plasma membranes in Archaea have two phospholipid layers and in Bacteria and Eukarya
have one layer with two sides
......... 19- Funaria has two distinct phases of gametophyte
......... 20- Spadix is a thick or fleshy spike- like inflorescence with small flowers and usually enclosed in a spathe.
21- Perianth in monocotyledons is consists of tepals.
......... 22- The gynoecium of Family Fabaceae consists of one carpel & the placentation is axil.
......... 23- Cystocarp of Ulva produce 2N carpospores.
......... 24- Pinus are monoecious, each tree bears both male & female cones.
,,,,,,,,, 25- Flower is a shoot modified for sexual reproduction.
......... 26- In hypogynous flowers sepals, petals and stamens fuse to form cup around ovary.
27- In the double fertilization one male nucleus fuses with the egg to form the zygote and the other
male nucleus fuses with two polar nuclei to form a triploid endosperm.
........ 28-In Angiosperms the ovules are borne freely exposed, on the megasporophyll
......... 29- Rhynia plant lacks true leaves and carries the spores in synangium.
......... 30- Ephedra forms compound female and male strobili.

Second Question: Iustrate (12) only of the following with clear labeled diagrams: (60 Marks)

.........

|- Cell of Ulothrix. 7- Life cycle of zygotic meiosis 13-Determinate inflorescences.

i- Zoospore of Oedogonium. 8- L. 5. in Female moss flower. 14- Axil & Apical Placentation.

i- Female conceptacle of Fucus. 9- Sporophyte of Adiantum 15- Types of aestivation.

- Thallus of Laminaria.. 10- L.S. in Lycopodium strobilus 16- Floral diagram of Family Liliaceae.

- Female sex organ of Polysiphonia. 11- Spores with elaters of Equisetum. 17-Legume & Cypsela fruits

- L. S. in female strobilus of Pinus. 12-1.S. in Antheridiophore of 18- Mature embryo sac of flowering
Marchantia. plants. Go next page
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Third Question: Write down statement number in-group B in front of the related statement

in-group A under the answer column: (20 Marks)
Group A Group B

.. Rhodophyta 1-  The cell walls contain peptidoglycan.

.. Chlorophyta 2-  Alternation of haploid and triploid stages.

.. Euglenophyta 3-  Spirogyra, Oedogonium and Veolvox.
... Phaeophyta 4-  Includes slime molds, euglenoids, algae, and protozoans.

.. Xanthophyta 5-  Proposed the Three Domain (5 Kingdoms) classification of Life.

<evee-. Dinophyta 6- Flagella no. is 2 but only one visible.

.. Bacillariophyta  7- 3 domain 6 kingdom system.

.. Eubacteria 8- Homosporous plant belongs to pteridophyta.

.. Protista 9. Brown algae.

.. Carl Woese 10- Four kingdom system.

11- Fusion of two gametes similar in shape and size.

12- Female sex organ of Bryophytes.

13- Diatoms its cell wall composed of erganics and silica.

14- His major contribution is Kitab al-Jami fi al-Adwiya al-Mufrada.

15- Red algae its stored food is floridean starch.

16- Extend the range of useful light for photosynthesis.

17- Yellow- green algae its Stored food is Chrysolaminarin.

18- Responsible of nutrition and movement.

19- A threadlike structure produced by germination of mosses spore.

20- Flagella two “transverse” flagellum and “trailing” flagellum.
Fourth Question: Complete the missing word(s) in the following sentences: (40 Marks)

1-The male sexual organ in Riccia@ is: ...

2- Family: Fbaceae include economic plants ST B8 .. i I cosescrsssine smysmasnnsssanstteres
3-The type of inflorescence of family Asteraceae e R By R

4-The embryo of flowering plants consists of ... N s et s SRR SRS B e S
5. Fam.: Liliaceae & Poaceae belonged to Class ...

6- Sugar cane and rice belong to Family ...

7. Aestivation in the flowering plants means:

9-The sporophyte of Marchantia consists of three parts ................... R L £ L (e ———
10- The female organ of flower is ...

11- Pteridophytes include four classes such as ... B i et
12-There are two types of leaves in Pinus: ... s sk 7 R  E S 5 W NP

L B S

(The end of exam)
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Academic Year: 2016/2017 Semester: 3™
Department: Plant Pathology Level: 1% 2 ; —— -
Subject nume & code : Botany 07101 "'f’//: t ’/’ ‘f |

Exam date: 17/08/2017 '

Fxam duration: 2 hours & Time: 10:12 am LEX "\.NDRI%

Total exam marks: 300 Marks UNIVERSITY

FACULTY OF AGRICULTURE N&

Fxaminers' Committee: Prof. Dr. Eid Abo-Taleb; Dr. Ahmed El-Bebany: Dr. Doaa Komeil

Answer Instructions:
| Exam consists of (2) pages with (3) guestions. 2. Answer questions (1) and (2) in the question shect.
3, Answer questions (3). (4) and (5) in the answer sheet.

First Question: Mark (v ) or ( %) sign in front of each statement: (90 marks)

The function of calyptra is to protect the shoot apical meristem.
The specific function of root hair zone is to release the toxic compounds out of the plant body.
Roots are not normally green in colour.
Haustorial roots are type of tap roots produced by dodder.
Bulb is a discoid subterranean stem with compactly scaly leaves.
Corms are storage tap roots.
. Branching in plants is a resull of activation lateral buds.Buds arc located only in the axil of a leaf,
Apical meristems can be modified to flowers in the racemose branching.
Seed is the product of sexual reproduction (fertilized ovule) of flowering plants.
In the racemose branching, both apical and adventitious buds continue to grow.
Phylloclade (Cladophyll) is a green photosynthetic flattened stem.
The two types of venation in dicot plant leaves are reticulated pinnate and reticulated palmate.
Cells of plant tissues are connected together by plasmodesmata.
Plastids and mitochondria contain double membrane.
The vacuole is important for water balance in plant cell.
......... The tonoplast is a single membrane.
Mitochondria can be divided independently from the mother cell.
Radial vascular bundles are found only in roots.
Simple tissue consists of one type of cells.
Centromeres are divided during metaphase of the 1™ meiosis.
...... Casparian strip is found only in pericycle tissue.
...... _ The stomatal guard cells have irregular thickening in their cell walls.
Stem of monocots has closed vascular bundles.
Phloem tissue is found in root and stem, while absent in leaves.
The periderm is found on ly in roots.
There are no cork cells in plant leaves.
Tyloses are a type of solid xylem tissue.
Hydrophytes are free of air spaces.
Xerophytes are lacking of root hairs,

Passage cells control the flow of water from the epidermis to the xylem.

Go to page (2)
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Second Question: Complete the following sentences: ( 90 marks )

- Functions of leaves are ... Bk & ol
- Buds are classified into & according to their position on plants.
- Seed consist of ... i v B i &

- ... are formed from any part of the plant other than the radicle.

- The growing part of a root tip is divided into five region: &

- ... is the cylindrical part that attaches the blade to the stem.

- The type venation in monocots leaves is...

- The function of mitochondria is.._......_.. .

- PRSP, . ... are non-protoplasmic components of plant cell.
- The layers of plant cell wall are EPRERL. - g &

- The outer layer of cytoplasm is called

- The vascular cambium in old roots is divided to give...... e &

- Lateral root is originated from

- Plants are classified according to nature of growth into . ... &

&

- Pericycle tissue in roots are formed from . o cells however in stems are formed from
- Stuken stomata is found in A plantss

Third Question: Write about five (5) lines on the followings: (40 marks )

1. Functions of roots. 2. Mitocondria.

3. Tylosis. 4. Stomata

Fourth Question: Compare between each pair of the following: (40 marks)

1. Hypogeal and epigeal germination. 2. Meiosis I and IL

3. Primary and secondary cell walls. 4. Tap root and adventious root.

Fifth Question: Draw labelled diagrams showine: ( 40 marks )

1. Plastids. 3. Simple leaf.
2. Bulb. 4. Diagram of monocot root.
(The end of exam)

CBast wishes
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Academic Year: 2016/2017  Semester: Firs . . -
Department: Applied Entomology, f:’f//,:, ',' ol
Level: one. A '

Subject name & code: Zoology 11101,
: T
Exam date: (Wednesday) 18/01/2017 ALFXANDRI’&
: | T ¥
Exam duration & time: Two hours (10-12 pm) NIVERS T

Total exam marks: 100 marks FACULTY OF AGRICULTURE So—

rExﬂminer's Committee: 1- Dr. Hossam M. Zahran 2- Dr. Ahmed M. El-Sabruul —‘

| . . S S—— S
| Answer Instructions: 1- Exam consists of (3) pages 2= Anm er all the questions 4‘

SRR - FER

First Question: (90 marks)

1) Define the following terms: (18 marks)

a) Syncytial cells (Osteoblast cells) e) Clitellum
b) Endoplasmic Reticulum (ER) functions f) Trichinosis
¢) Binomial nomenclature

d) Planaria Excretion

2) Compare between of each the following terms: (20 marks)

a) Eukaryotic animal & Eukaryotic plant cells in cell wall, lysosomes, chloroplasts,

centrioles. (8 marks)
b)Open & Closed types of the circulatory system. (4 marks)
¢) Pseudocoelomates & Acoelomates, (4 marks)
d) Filariform larvae & Rhabditiform larvae. (4 marks)

3) In table, mention the Nutrition types, Locomotor Apparatus, Reproduction

types of the following models: (20 marks)
Amoeba sp - Euglenasp - Plasmodium Sp - Paramecuim sp

4) Briefly explain the following sentences (by drawings if available): (16 marks)

a) Eukaryotes probably arose by endosymbiosis,
b) Many protists with delicate surfaces are successful in quite harsh habitats.
¢) Parasitic Adaptations of Tapeworms & Flukes

d) General life cycle of Intestinal nematodes Go next

L
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5) Only by drawings illustrate the following items: (16 marks)

a) Fluid mosaic model of plasma membrane by Singer & Nicholson ( 1972). (3 marks)

b) Life cycle of Shistosomes. (S marks)
¢) Hydra body plan. (2 marks)
d) Codosiga sp & Trichonympha sp (Zoomastigotes). (2 marks)
¢) Diatoms & Forams. (2 marks)
N Jellyfish - Class Scyphozoa. (2 marks)

-

Second Question: (90 marks)

|) Define the following terms: (28 marks)

1-Pearl 6- Ampulla 10-Biramous appendage
2-Test 7-Mantle | 1-Endothermic ammals
3-Amnion #-Radula 12-Monotremes
4-Madreporite 9-Chitin 13- Metamorphosis
S-Papullae 14- Pedi cellania

2) Fillin the blank for the following sentences: (46 marks)

Y 1o 0o B SR R A 7771 4 S g L P have ink sacs.

b)All chordates have four basic characteristics
I W b s B & . ... G

c) Brittle stars are divided into 3 groups according to........ N adigiies :

d)Class: Gastropoda is divided into two subclasses: A-. . coeeie B

e) Excretion in class insect is by .......which are extended into hemoceol
and collect nitrogenous wastes which they are converted into crustals
called....... .

[) Feather star are pertained to phylum..........cveeverrs SR s sy

g)Five adaptations has contributed o the success of Arthropds as a group:
o ssunpmenhns 2 SO 1. V=t , RP—— B s s TR R :

h)lnvertebrate chordates including  sub phylum  iieecrmmrisrenaeres like
Lancelets and sub phylum .....oooienmiirenn like Tunicate.

i) Life cycle of Ticks is .ooovviineiennn RIS - andl s Go next
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1) Molluses have a three-part body plan: ... N AR and

k)Molluscs have development with the presence of a cooviiii L larva and in
mostcases alsoa ,............ . larva,

I} Respirstion in Arthropods is s s S 1 1< F R

m) Sharks are from the....... . fishes while Salmon arc oM e, fishes.

n) The lite cyele of in crustacians: ... !an-ae{......-,........,,....}and ............

0)Shell of molluses is composed of'.......... and...... with an inner layer of....... .

p)Excretion in Arthropoda are by 23 47 I

3) Draw with complete labels: (16 marks)

A- Diagram for the anatomy ol mollusks. (6 marks)
B- I'he Water-Vascular System in phylum Echinodermata. (5 marks)
C- Nauplies larva in Crustacians, (3 marks)

(The end of exam)

Best wishes

Page 3 of 3



li;ll—_l..ul u..‘:i'lq).nl ;H&J!
(@!JJL&}JJ‘:'IMMH ﬁ’f"f, }'"};’r{
07104 :, 84l 3585 anl M" e

Gl fatill s ALEXANDRIA

r.w,s,x,r'riw%:s_hwr-\.;Qu:d'gnduﬂﬂ{@Ju UNIVERSITY
2 VAL ot 1K 4yl

— el il YAV /YT el alal
| e e B e s sl g sl albheldy o Ly Girall laaa gl dans sy sl

(2.2 1) ; Laat dany phel x dadle 5 daaall dlaall abel V dade a2 : g5 Jl gl
Al 3 ga (e Lgidly Wl ¢ el A1) i I R
.#ﬁ'@dw@d@uﬂluﬁmﬂdﬂ‘ o\
Al )Y LB AL of SN Gt g Ly
Blg¥) Juall a gl Jsdall o g A3 gia L P . S
S JS e Gl g 0 ST agag ey Glus s pad) il o
- By Al e dal ) A8l 3151 el EAI N
okl s G et ) oy Y
OERIRN < gh o) Oa &30 LA
U Gl e Ske gl 8
Aall L8 28 s g Bl dagiall dls e AV Jlaallcw gy Ve
- oabalel) pho dalos (a3 LAY Sase 4, i) Sl vy
asdall oe ditig, £l 536 4y bl el vy
- Apall) LAl Sl A 51 Aeaion all LAY Al 5 puniliy 5 gually ) gl ualil) ALaElH Citis Ly
Mgl S el cah e Al Adad) sl o Al gl S LD
-Gl Blade il edy ve
K SRS EOR R A Aeadidl il v
whaly 3o it Gadl gl g gy
M 0ald 5k £ sana Ll 4 e ciad aa gy B 88 Ga el A il ALl VA
A g 5l oy g T Clagegn ) NG
A58 CUNIAY S, SR ewdadl flsal Ly
2 dlee il Ly 2y Lbee 5 guiall Jiasl) Ly -
P SIS el g 5 fua palie G gaaa Gl g ) paliadl ¥y
Lkl el B sy HSACDLAN ) sl platiy 3 at W & S
POBI g e paall B ol g alsly ve
JE U Baba g 300 ol i) duty y LY o —
S G gal sl Al Galljual) iy vy
e S Q] Cpa SR A8y al 0 gl it Oada Al ARl vy,
Oall Bang 4 LA Gapa \ Daal gy Gllganall sy AR A Tl Jaes YA
LIV S (o gl Rl ganl) Ga cudiadl gadi va

Tw‘ldagﬂ



(B2 71) 1 AV Gaad) s 1 g
‘ ‘ 1l gai Amgadal L SN sl

‘ PP Ry o-F-. O Byl oS 5 Y

T — o Ayl e T

R T T R— [ () o=t Ghliasre e il o555 2

..........................

IS By : i 5 gl a3l gl Y
Laias ¢ paialall ol 93 S5 T T SN 3 e il Gl 3 ﬁ
Cbasd gl Akl <l g3 Sl Bl sl B 3. I

: ) oo s R "
A S e [ [ —— T, [+~ R alaaiily sl o Lol Sy,

i * e Sk Ea) 4T Y
Mg el ke ey T, v Cilay P 2l g0

................. ANy sl 8 Ganas Al T e e N
R A s Janall 8 Lgius 3 il ey 31 (e N €
o= En SR 0 s il jaliell e 10

................ e, S g e i S Jal gl e VY
- T e —— < [l I A
............ e sad) e 551 ) AELEN S e ] O NE

Y ..')"Y Aty



(Clasre x ) (Slaja V) - (il Laa S Cm A8} iy Al s ¢ CUB gl

el Llee e O, « CO, al-Y bl sais ¢ alall € 5 Y|

L 4
W

(Slas2e x 1) (A3, r.) -;thq&iﬁ&ﬁhgﬂﬂ:ﬁbﬂ;ﬂ'&ﬁ
E‘)ﬂli .

ARSIV

pl il Cladadlll B bkl g ¢ gl cdlelds o
oo Jslaall dalal) cliall 9
(Sasd o x t) (a3 vy - ik L 08 O Cupina e g 1 ualid] )l

RUSTIIR

 JSAN S8 aadfa g jda Y
.EZIU._IJl ai&lb:h...eﬁ.iﬂ LT
S gl g

Y ,;_‘gr_lijﬁ‘-_l l.'.llT_l..'m'f'l |_|._|.h!l s

¥V gaY daig



,i_,.mul el gl Jaadll Y AV/Y AT aalall piadl

J,w,_;,...mn el Sl pladl ale s andll 2 T ,4,/
{\ﬁ\.r}alﬁﬂhgﬁa@mluﬂuﬁiwj V‘M
e o o i ALEXANDRIA | Al
(B Y-wmt 1) cliBla splaialt dagay Bia UNIVERSITY —:{—::-3:
da gt VAL skt ALlSl) Ay ) 1&1))1“ 12
ke dand 8-V ym»m 3.Y s gl dabald 3. ) umdum
Ay oal Alind as g3 oY fadia (T) 238 el ,sndlu‘rl | hh‘iiuLuha

(Aaja e yooadsY! Jl g
(a2 Yo) :ASY ALY e wal Jh.n::‘nlu -:h’_gi
€Al gual) ASLaall 2 S et 38 sall ) Jpea gl e LSe35 Aiall g a5 2 Saee a1 )l O pIS5 -
Adall Lgtad ¢ ol pdadl s2a e 20 Sal Lﬁﬁ_tbmx_.).udl‘)m_ﬂ =¥
Al S5 ae saeadl 15k ygaall ddlly i pasll 8 l)ﬂq_u_-.ﬂl&u.aj‘wm)&l ¥
¢ 3 2l Cuticle JS8 S 4 Wax layer daatll Aldall ik S5 -8
$ il L 35y B el Y Alas 030 D a3 A S -0
(aa o)zl baa JS 0 dd il 83 el 08 03 Y b - gl
1- Tentorium 2- Hypodermis
3- Johannes Miiller 4- Oligophagous
(a2 10 2 A Laa JS el St (el pae s LI
A< ja e e 58l g5 p2luell i o3 u__.uthJml;:A_mm},wm Jiaddla 4 e e plad )
JS-S'_L_,JI‘-J' ~liall
Bohall plis Blaliag bl gy bl =Y
3 Al a5 LY ae Lyl ol L) 3115 L pie ey 8 p2all Ll g ) 50 Ly Aot I gl T
sl Aslad

(A2 7+ A ALY pas R il mla Laldl i:L.th'l_,.....‘l
(A2 Yo 1o 08 23 Y a (JI) et ‘h'_s"
(sl 1AL D plall (B anall £ s -
il S ALY e s pkall pua Siles M Gpsalall Gulasll Ja W T
panSY) e Jpanll G bl g0 pall oS Al Bama ad g B salgdl DB BT
uﬁ)_;l1 Ak e Al g dialeY! draagll slall o A gl A3 A gall elialie] gda poe B
il e i gl e e pi M le RSN At i) o gall o palasll e Y gl SIS 5558 -2
L;.'_'L_..ﬂ-a
(R V) sk 4 jai e 83l sl 55 08 35 W a1
Al ) el (Al JP tﬁzﬁﬁs-“ o) e JlE g s A Jsl)
jZad ',..jlnd-._,.aq_”a,dﬂ_amjn Y
Al e siam gl Gl Jla Y B e T --‘)~—*-“ e JS 3 i A el Sle YT -
Cryptonephry 3iaildl sl Gl 5 el £
Peritrophic membrane -= Aghell oall ozl bes JSh i Basl g Anila P
Bae lewall dailill elamc ¥l =




CESE qhhuhLul!MLS&qh.Hﬂ.nc.uAJ AN
3J545Pub41dji*'fh1dpuuj?“;ﬁ4_:u|¢jhjl m_pm{dj}bg'..a!} 8 paall Aa, ganll 3, 4all Y
Riby gt g1 3a] 8
g U 48 2 g T o Aia ) Agliia 35 5 ) pia b Asaingl) ot 58 JIS2] 3] a5 -

{;la_.__).'l g -} :.idi.il'l J E|
J3a> (A Jlsaall ad ) alal Aasaall Adlay) a8 ) Jakd il A1) (ol Laa B e JSIAuiliall Aaanal) Adayl ga) Yl

(Aa_a Y o) (ALY Al S

.......... 3 las YL AS pall 5 guell g Alasadl gl 333 e J ghsall saall Jlgall e 3all -
Js¥) feall o a (5 pall CiaBdie s EAG geall L

lateral il L_;l_ﬁ"‘”l #all LA 3w PTTH ol adia paad daliall ) ge 3ell 3 a0 Lexie LY
.oosS F3SY) B peurosecretory cells

s iia Meljie jaa elyie A3 e 4353 ) A8 g a
_____________ o oV asiladll Adlall il e ALLI i3 Rmand) uall elimef an g3 oY
;,#'-‘illl L.}“‘l)ﬂj _)_._'u..n'_}‘.alll — Q1_}'Li.:;_“j _.:h:l.ll_lll [T Vo \_l'..‘nLLd'l_, ."||_;_‘.n.15 = |

klmuuj-’_nj;).:.l14m1g!u_hqu\ d.JJLn]'IJn_I}ql" u:i:.jlu_-‘.yhggl,_‘m1§-‘;ﬂﬁ.am
- Jﬂ-u})__g_u_.a,_:.‘l_n.ﬂ_,..uja_aﬂ 'L.MLﬁ-m'}:]dmujn..P_}aﬂ n_.Ln.n.iJ..l.'l

Polytrophic type — Telotrophic type - Panoistic type -|
................. o el an s Sehistocerca s s yaeall 2 jall sy 2o

Rl Ry s Aalle & XN A5 Aalle ye didady 5.
............... Se Al e ol Dl s Al il slaall saall 3

A Sy olall & JSH JE5 N b g o Ayt pdnl A ke i
................ = an a5 Dermatobia homoinis Jesy) aio 4y ol a8 -V

Culex oo Oa po gl en Sl als = 550l (ST Psorophora u<is (e gasadl -

I e U shaall ga AL 30l 3 9-gx0-trans-2-decenoic acid <SS jall -A
A8l Jga Wl by s ENll | alae gad il g c ASLall ) oS3 ke -
___________ \Lﬂ__;.n:n.j'- ¢.1|.|:. Lml\u_}n_)k\_iLﬁgL_mlmJlM| Sl }l._d'l -9

okl Ml pdall jekiaie n JalSI gl S e g ) e o Ll & D) e -
1‘_;_5.\.‘_;.auu_fujc...a.1_n:;._ﬂ d_-"'u__}.'.ﬂ;.'lill_g.ll.‘l.-dd._l}\_l__m ............ ~_..'n_}:_1__—'|-

Hermaphroditism — Parthenogenesis - Paedogenesis -



(Ax 211 ;@mhﬁi;h&:iﬂqﬁm;uumlﬁh [P

-
L

il pEall g 38 pall  aell Jlgadl 8 SN Al Y
Corpora allatum (c.a.) s 380 puadl 22 -7
Ol piall sy ull jleall Baad Gl aaadl T
Jeeall Jai 3 Nasonov gland 32& -2

el Jasdllal 80kl O Sall a2 -0

dud S b Lokb AB L ) il clladl fpgd 28 & aull 6 ias (V) o)) Anpas S PYTRCAD R

—~ 3 (A2 Y E) 1Ay
=
| I
g
1 e &

() ")

( crasal ALk Ligs )
(b gl g gl Cilgladl kel g



